KEY

ELECTRIC CIRCUITS 4

A60OV batmyisconnectedthroughaswiwhtoa&_&Oﬂmiatorasshmbelow.
Y il
- R At
_& \ G - Tab
2.0 = (@0 40)
= 1.0 A m =80 C

What total charge flows through the resistor if the switch is clogsed for 403 ?
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Which of the following diagrams shows meters carrectly placed to measure the circuit current and
the terminal voltags of the battery?
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. What ig the terminal voltage of the cell in the circuit shown in the diagram below?
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What is the power dissipated in resistor R, in the circuit shown in the diagram below?

@ os3w
B. 097TW
C. 18W
D. 28W

WE—  Ry-Re-3s0
- &V -3%-10

12 VT 21000 & =
Wy > ( =3 7.
R, I=015A

P -]:ﬁz x




R - B
T Koy T B 41

5. g
The diagram below shows part of an electrical circuit. 3557
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What is the current through resistor R,? 1_1 . .\_/L
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What is the emf of the battery shown?
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L Two iden 1s connected in series have a total power output of 400 W. Assuming V and
R remain constant, wh&twoﬂdtlmtotalpowa'ouq)utbewhanthefesistots arei'ﬁe—connertec?ﬁn
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Which of the following correctly shows the direction of conventional current and electron flow?
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What current flows thrguglghe 11.0 £ resistor?
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. In the following cirouit, determine the value of registor R. iss ol -
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A battery provides 3.20 W of power to an extemal resistance. What power is dissipated as heat by
the internal resistance within the battery?
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A 75 W bulb is connected acrossa 120 V source. While the bulb is lighted, what is the effactive
r:si’s_m_gg_ofthebtﬁb?

AR I S
Pa  Poicy

R =20
I:% 0.6io5 *
R
T R - 192 s

i

= 0.65 A



